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. The ratio of cost price (CP) and

marked price (MP) of an article is
4 : 7. A discount u is given on
MP and the shopkeeper made a profit
of Rs 80. Find the CP of the article.
fefl &g &1 & I (CP)
3R sifda eu (MP) &7 39U & 4 : 7.
(MP) TR 20% &I B I T8 3R FHMIR
DI 80 BUY BT AW BIAT| 9K &1 (CP)
BIckcad

(a) Rs 190 (b) Rs 170

Rs 200 (d) Rs 180
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.In a village elew_hgmﬂn_t.h;ee

candidatesf 80% of the voters cast
their voted out of which 3% wvotes
were declared invalid. The winning
candidate got 42,680 votes which
were 55% of the total wvalid votes.
Find the number of wvalid votes
received by the candidate who stood

third, given that the received only

10% of the total valid votes.

4 SRIGaNT @ 419 0% TifT @ g 3,
80% WHAGIARI = 39+ dre Tral, =¥ 9§
3% dre Iy =g &~ faw 71v| e
IRNGAR BT 42,680 dic el ST ot I
qrel &1 55% o | qraR ©IH )R @9 95
SHIGIR $ U 9 Hal HI G&AT S

AT, 78 @ g B SN B A W
SLAIT 10% AT BT |

(b) 7700
(c) 7670 (d) 7680



If \/E=S+JE and (a + b) = 30,
b 3 a

then what is the value of ab?

HI%{\/%=§+J§3ﬁ?(a+b]=30%,
al ab &1 |19 T 27

(a) 64 (b) 28
81 (d) 36

©



2
If sina+cosoa = ‘ then what is

/3

(tanao + cota) equal to?

Ife sino+ cosa = - fhz
3

(tana +cota) fHE®d SRR &7

[423c=Y (a) 1 (b) 2
/z{& 3 K/rs/ (d) O
=1
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A sum amounts of Rs 6,120 in 2

‘"l-—-

years and Rs 7,340 in 3 years at
compound interest. The sum (in Rs)
is (rounded off to 2 decimal places):

gshqfey &dTo1 YR T IR 2 981 H 6,120
oY AR 3 99 H 7,340 JYY B WA
gl T (Pu #H) ' (7 S9Hed Rl
d% guiifea):

(a)_4,050.13 3,254.63

(c) 4,850.32 (d) 4,560.23

(dobatir RRE



oyl P qgSeYid §pM @ Hifeid © |
fed faffre A & fog, S9e g% &1

faa=or < fear ar g2
Aot JfTT o vu |
fx &1 9mE 50,000
Higd I 20,000
Azl & dEnd 10,000

ITel WE P forg smfdra o &1 SrHH
M ® fog, 98 @ & HH H =
AP P 6, 5 AR 8 HT YR 2T B
ISP o BT 9IRT AT T BI?

(a) Rs 25,265.18 (nearly)

(b) Rs 24,863.16 (nearly)
(c) Rs 25,163. (nearly)

y‘ﬁ 25,263.16 (nearly)

' Sudesh is the

A Rowy_
T

owner of a
multipurpose shop. For a specific

month, his profits are detailed
below.

Category Profit earned in Rs
Groceries 50,000
Cosmetics 20,000

Ladies’ dresses 10,00

In order to estimatfe\the expected
profit for the next he assigns
the weights of 6, S and 8 to the
different categories in the same
order. What will be the weighted
average of his profits?

25765



If the simple interest on a certain
sum of money is Rs 11,220 at the

1
rate of 165% per annum for 8

years and 3 months, then what is
the principal amount (in Rs
rounded off to the nearest
rupee)?

gy v fARREa T w8 a¥ ik 3
R B R AR 162% T M R 9
MR e 11,220 ¥9Y B, 1 qd

IR 1 8 (Mveaw vud # quiifed vud
H)?

(a) 4,228 (b) 6,822 B
(c) 8,422 \J;u/s,ztu




Minor arc BC subtends angles BAC
and BDC at points A and D,
respectively, on the circumference
in the major sector of the circle with
centre O. what is the value [in

degress] of (L ABC + £ ACB), if Z
BDC=73°7

Y 99 BC B O I 9 & WA
frogds @ uRfr R HAw: fdg A R D
R $IVT BAC 3R DBC 3idRd &t 21 (
ZABC + # ACB) &1 99 (@7 #) a1
g dfc «BDC =738 7

(a) 117° \u:-)/m'?“

(c)N103° (d) 113°

3




If x3 = 270 + y3 and x=\(6/+’y], then

’7(%"' ':]‘57-'- L70 what is the value of (x+y)?
f}(-—lg - 6 (given that x > 0 and y > 0)
" I x3 =270 + y2 3R x = (6 +y) B @
’7’('}‘1?4’7‘7"’“% (x + y) BT A T &7
TE @I U P x>03R y>0
Wepy=3 (I ER@E>08Ry>0

(a) 23 (b) V3
=3 U 4B (@ 42
o | bl @

::qj%



Ifcot A+cosA=pandcotA-cos A
= q, then which of the following
relation is correct?

'ﬂﬁcotA+cnsA=p3ﬁ"<’cotA—cos
A = q g, o F=felRag & 9 @ 91 ey
el 87

1

(@) Vlﬁqp -p’+q>

(b) ——p rqr Y @

(d) 4pq = p* +q” \ﬂ




If a map of a city was drawn on a

|\< 03 ma scale of 0.2 cm to a km, what area
wm= (-

would re ountry if it has
IKWIL-: 0'0‘40“42' an area of 22500 km?2?

gfe fdl @R &1 9®)m 0.2 9 9 (&
7. el & M W e o 2 a
22500 4" &=hel arel QU BT DI AT
<XRSIOXY =00 cu'tr st v
0 ¥m? (b) 2250 m?
(c) 5628 €m2  (d) 900 €Em?
(sPechion

C ————



% —% g " Sukhen purchased some perishable

L)
%{/ — —H’% ftems for sale but 15% of those
items could not be sold and went

2 Yo /. bad. However, Sukhen managed to
—_ sell the rest of the items at a price
S that helped him earn an overall

profit of 19%. At what percentage

W 99 ¥ oHIE W R 9% 19% above the cost price of each item did
W G W way o v faol| wiy  IUTRGR S SR 6Fte Wems: thet

did NOT go bad?
9e] @ N g 9 fhaq ufaea fts
® GRT Y AT g B A o www B9 [P @ (T GO W B el

@fl‘cﬁ?l%?ﬂﬁﬁ 15% TEN
g . aiﬁﬂﬁfmﬂﬁ?faﬁvwa‘rﬂél
«/”2’/" "’MM’@ gleilfe, & a1 Il B 99 P

(c) 34% (d) 36%
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What will be the perimeter (in cm) of
the sector of a circle of radius 4.9
cm having central angle 144°

(Usen = g] ?
7

144° HET DIV 1A 4.9 FH B4 are
Ue g9 & Broude &1 aReag (@ H)
EﬂTE‘ITrr?

(a) 21. 12(b) 23.32 Y

(c) 23.23(d) 22. 1:./
X (%)



If a = cotA + cosA and b = cotA-cosA,

then find the value of a2-b2- 4./ab .
Ife a = cotA + cosA 3R b = cotA-

COSA, o a2-b2- 4./ab BT HME T

BHITOTY | bl
(a) O (b) -1
(c) 1 (d) -4



A man invested Rs 25,400 on simple
interest for 9 years to obtain a total
amount of Rs 67,790 on a certain
annual rate of interest. What was the
rate of interest (rounded off to 2
decimal places) to obtain the above
amount?

U Afth A U AREd aifte &I % )
Hd 67,790 U UG & & forg 9 auf
P foIU IRIRYT 19T R 25,400 $9Y &I

foraer fhar| SWIp Il g & & forg

(c) 18.45% (d) 15.84%



men and 8 women complete a job

ys, and 5@% women

com lete the same wor days
?szlbln) d 4

In how many days will 1 man and 1
woman complete the same work?

4 JoY 3R 8 Afee¥ U SR &I 10 faAT
H X XA B, AR 5 Jo¥ 3R 24 ARRAN
Sl B BT 4 &A1 #§ T HA § 1 1 GOV
IR 1 Hﬁwaﬁmaﬁmﬁﬁﬂ’rﬁ



In AABC and APQR ;
/B=/Q,/C=/R and AB = 2PQ,
then the two triangles are
AABC 3R APQR ¥,
/B=/Q,/C=/R 3R AB = 2PQ,
HEIREG S g |

(a) congruent as well as similar AT 8 WHASY T 8w

HITEE 49 3R 9959 A1 ‘Jpﬂimilar but notcongruent
(b) neither similar nor congruent 6T N HaH el

(d) congruent but nor similar

ot T ) G96T T8 @




The radius of a circle is 21 cm. what
will be the area (in cm?2) of a sector of
the circle that subtends a 22.5°

22
angle at the centre [Usen = 7]

|6 TS g @ fBroar 21 9?1 99 @ S
ProuEs &1 aawe (@912 §) T 8RS
vﬁ_ D% W 22.5 BT BT §491AT &

)
(a) 86.6205 \)(36.0625

86.6250  (d) 86.6025

4 XoA KI-H . ()gsl -

!1
‘




A shopkeeper offers the following
discount schemes for the purchase
of his goods. Find the scheme which
has the maximum discount.

28 ., (I) Two successive discounts of 20%
and 10%

U ™ (II) Discount of 10%

337
33 ';?.:/_..__..__, (III) Buy 8 and get 4 free

o .
(II) 10% I ‘E!!'“:“T:."‘l N (IV) Buy 9 and get 6 free

(1) 8 TS AN 4 T TN 15 gprer o WA A @I W
(Iv) 9 &< IR 6 FH I frfoRed Be Aom] U9 @xar 21 98
(a) (iii)  (b) (ii) ®W@@fﬁﬂﬁaﬂlﬁw'&;€r|
(c) (i) A liv) (1) 20% 3R 10% F1 A e B



Fd AR 10 fHar TR WRE & T
D @l I8 URTET Pob & ©U A
Rs 1,000 &1 T fhar| SHbT oM A1
I 1 DI |

(a) Gain Rs 2,050 (#f Gain Rs 2,750
(b) Loss Rs 1,000 (d) Loss Rs 1,500

A person purchased ten boxes of
grapes at a cost of 2,000 per box.
Each box contained 20 kgs of grapes.
He sold each box at the rate of 2,500
per box. But on the whole 10 kgs of
grapes were damaged. Further he
paid Rs 1,000 as transport charges.

Find his gain or loss.

UH ghe A 2,000 ¥fd U & HHET W
IR I T ufedt @Rl | e o« H
20 fHemE FR | SO TS fear
2,500 ufd fS&1 Y &)k ¥ 37| ifed

©



A shopkeeper purchased an air
conditioner for Rs 24,000. He marks
it for Rs 30,000. He sells it to a
customer at a discounted price and
still earns a profit of 9%. What is the
rate of discount given by the
shopkeeper to the customer?

Uh GPMAR 1 24,000 T0 § TH TR
HSIYR WGT| 98 39 30,000 39 &

fore fafeq o=ar 1 98 30 U@ UED B
Rarah Heg ) d9ar & iR R A 9%

®T T AT & | FHMIR R TED Bl
Q1 7§ BC O & T 27

(a) 10.8%  \485712.8%
(c) 13.8% (d) 14.8%



In a triangle ABC, ZA=20, /B =
/C =40 and 0 satisfies 4sin20 + 2sin

0 -1=0. WhatlﬁratmofBCto
AB? ol = Q%

3 ..-Lté';
ts st ABC #H, /A=20, /B =
/C =403k O 4sin?0 + 2sin® -1 =0

B g PHdl 8| BC IR AB I
U T 87

W E-1 et

¢ ‘*/54'1’ @(d) 2(5 -1)




In a triangle ABC, ZA=20, /B =
/C =40 and 0O satisfies 4sin20 + 2sin
0 -1= Q What is t ratio of BC to
AB? ouml = -gg_r__ = -t

U s ABC #H, /A=20, /B =
/C=403R 0 4sin?6 + 2sin® -1 =10
Bl Hge HRal 8| BC IR AB HI
U 4T 87

(a) V5 -1 (b) “/32' )

(d) 2(v5-1)

) (J§4—1)




1 1

cosecH — cotb F sin®
1 1

cosecH + cotb N sin®

If = x, then what

equal to,

is

where 0 < O < %?

S 1 1=x,'f|5f

cosecH — cotb - sin®

2 1 fryd W L

cosecO +cot® sinO

@aﬁo{eﬁg?

A —x (b) x
1

(c) - (d) -=
X X




What is
1

1

X(x - y)(x - 2)
equal to?
1

+ +
yly - z)(y - x)

1

=

X(X -y)(x - z)

+
y(y - 2)(y - x)

frgd sxEY 27

l(a) 0

@l/’

< (b) 1

(d) ———

XyZ

1

z(z - x)(z - y)

1

z(z - x)(z - y)



What is the mean of
distribution?

Class 40-50 | 50-60 60-74 T0-80
Frequency 3 3 1 2

faa=or &1 9reg | 8?

the

an 40-50 | 50-60 _%-_7 ?;30
WTH t | c- 1 2
(a) 51 (b) 52

(c) 54 ® ‘Jg-rSG



Which of the following sets is such
that all its elements are divisors of

the number 25207?
frfofea 4 & &9 @1 ag=g 4T ©
e 9t 39ug 9¥&r 2520 & AU

14
MT (a) 12,49,18  (¢) 16,15,14
W W) 8.9,7 (d) 21,10,25

5



If x2-11x+1=0, what is the value of
x8-14159x4+117

Ife x2-11x+1=0 o
x8-14159x4+11 HT A< T &7
(a) 9 (b) 10

(c) 12 (d) 11

il




